Chemistry Class 11

Student Name

1) Which of the following solutions will be most 14)
concentrated
a) ImHA bil M HC
¢} 1% HCl d) Same concentration in all
2) Which of the following cne percent aqueous solution
has the lowest freezing point?
a) Sucrose (M.W =342} b) Glucose {M.W = 130} 15)
gl Sodium acetate (MW =821 d) Urea {M.W = 60)
3) Molecularweight of a polymer can be best determined
by measuring
a) Osmotic pressure of the solution b) V.P. of solution 16)
c) B.P of solution d) F.P of solution
4) Increasing the temperature of an aqueous solution will
cause
a) Molality to increase b} Mole fraction to decrease
¢l Molarity to decrease d) % by weight to increase
5) The solution of sugar in water contains 17)
a) Freeions b} Free molecules
c) Free atoms d) Free, atoms and molecules 18)
6) Mole fraction of water in tap water will
a) Equalto 1l b) Greaterthan 1 c) Will somewhat equal
to2 d)lessthanl
7} What will be the molality of a solution containing 4.6g 19)
ethyl alcchol & 300g H,07?
a) 0.33 b)05 ¢} 0.1 d)None of these
8) The number of moles Of NaOH present in 10 liter
molar solution Is
a) 10 b)5 cJ1 d}25
9) Equal volume 0.1 M AgNO; and 0.2
10) 20)
21)
11)
22)
12) A hinary mixture that forms a non-ideal solution has
a) Boiling point lower than that of the pure solvent
b) Melting point higher than that of the pure solvent 23)

¢} Zero heat of solution.

d) Vapour pressure that may be higher or lower
than that of the pure solvent.

For a solution containing two volatile
components, the graph between composition
and temperature shows

a) Two curves, one for liguid and the other for vapors
b) Only one curve.

13)

c) Two separate curves for the two liguid components
d) Two curves for vapors only
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When a crystal of solute is added into the
supersaturated solution, then
a) The solute dissolves completely

b) The solution remains supersaturated
c) The excass solute crystallizes out
d) The solution becomes unsaturated
Indicate the solution pairs which can be separated into
their pure components by fractional distillation:

a) Water and ethanol b} Water and HNQ;

c) Water and HCl d} Benzene and tol
Vapor pressure of a solution when.a nol
is added, to a solvent is always
a) More than the vapor pressi ‘

d' b} 0.1m Glucose
i NaCl d) 0.1m Sucrose

ure water boils at 373K and HNOQ; boils at 359K,
Azéotropic mixture of water & HNO; - boils at

%393.5K. By distilling the azeotropic mixture

a) Pure nitric acid will distill over first
b) Pure water will distill

¢} One of them will distill over in a small amount of the
other

d) Both of them will distill over in the same composition
as that of the mixture being distilled

When attraction between A =B is more than that of A-A

and B-B, solution will show deviation from Raoult’s law

a) positive b} Negative

c) No deviation d) Cannot be predicted
Molarity of 4% NaOH solution is
a)0.1M b)001IM c)O5SM dl10M
Which of the following solutions will have the highest
freezing point?
a) 0.1 M FeCl; b) 0.1 M Nacl
c) 0.1 M BaCl; d10.1 M Urea
Which one of the following statements is incorrect?
A} A solution freezes at a lower temperature than the
pure solvent.
b) A solution boils at a highertemperature than the pure
solvent.

¢) 0.1 Nadl solution and 0.1 M sugar solution have the
same boiling point

d) Osmosis cannot take place without a semi-permeable
membrane.
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24) Ina pair of immiscible liquids, a common sclute
dissclves in both &equilibrium is reached, then
concentration of the solute in upper layer is
a) UIn fixed ratio with that in the lower layer

b) Lower than the lower layer
c) Same asthe lower layer
d} Higher than the lower layer

25) The molarity of a sclution prepared by adding 7.1
g of Na,50, (formula weight 142 amu ) to enough
water to make 100 ml volume is
aj20M blOSM <cJ1.0M d}0.05M

26) An aqueous solution of glucose is 10% in strength. The
volume in which 1 gm mole of it is dissolved will be
a) 18 liters b} 0.8 litres ¢} 9 liters d} 1.8 liters

27) Which one of the following salt shows a falling curve of
solubility with rise in temperature
a) KNO: b) NaCl ¢} Ce;{S0.}: d) CaCls

28) Which of the following scolutions has the highest boeiling
point?
a) 5.85% solution of NaCl b) 6.05 solution of urea
¢)18.0% solution of glucose d} All have same boiling
points

29) Which of the following, when dissclved in water, gives
negative heat of solution?
a) _Licl b) NaCl c) KCl d) Pb{NQOs}):

30) The ebullioscopic constant, Kb, depends upon?

a) Amount of solute b)] Nature of solvent

c) Amount of solvent d} Nature of solute

31) If a compound has a negative heat of 3 . ion
temperature it dissolves 4
a) More rapidly & is more soluble

¢} More rapidly &is less solubl

d) Less rapidly & is more s
32) The correct order of h

a) K> H'> ¢ > oH b}

r the following ions is

c)Cr>K" >OH >CI >K'
33) In Cu504 5H, ve water molecules. How much
water Qi

34) Azeotropic mixture can be separated by
a) Vacuum distillation b} Fractional distillation
¢) Chemical method d) Botha' and ¢’
35) Which one of the following salt produces acidic
solution on hydrolysis
a) Na,CO; b} CH;COONa c) Na:S0, d} CusSQ.
36) Molality of an aqueous solution that produces

elevation of boiling point of 1.00 K at 1 atm
pressure { Kb for water = 0.512 K.Kg.mol?)
a)0512m b)0315m £}185m d}5.12m
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37) A0.1L 0.5M solution of sulfuric acid is mixed with
0.2L 0.1M phosphoric acid, the concentration of H+
ions in the resultant solution.

a) 0.3M b)02M c) 0.53M d} None of these

38) Which Of the following unit of concentraticn is not
independent of temperature?

a) Molarity b) Molality ¢} Mole fraction d) All
39) Which of the following statement is true about ideal
solutions?
a) Change in volume is zero b) Change in enthalpy is zero
¢} Vapor pressure change is zero d} Bothaand b
40) The addition of sodium chloride to water while boiling
eggs results to:
a) Decrease boiling point of w

boiling point of water c}
d)Make egg tasty

41) Which pair of thed
solution?
a} CQH Br+ CQ |

i

lative lowering of vapor pressure is equal to:
®ole fraction of solvent b} Mole fraction of solution

c) The molar mass of solute d} Mole fraction of solute
14) “there are types of solution

a) Six b)three ¢}nine djall

45) Which one is completely miscible solution?

a) Water and phenol blwater and alcohol

c) water and benzene d)all
46) Which one is partially miscible solution?
a) _Water and phenol b) water and alcohol
c) water and benzene d)all
47) Which one is practically immiscible solution?
a) Water and phenol b) water and alcohol
c) water and benzene d) all

48) When phenol added in water then .................
a) Water have the lower layer

b) phenol has the lower layer
¢} both have lower layer d} none

49) Which one is not true for ideal solution?
a) Obey Raoult's law b) AV=0
¢) AH=0 d) none of these

50) Solubility curve of is almost straight.
a) NaNO; b} KClI c) NaCl djall
51) Which compound show discontinuous solubility curve?

a) NaNOs; b) KCI ¢} NaCl d} Na,SO. 10H,0

52) Alcochol and ether mix in all proportions, so known as
a) completely miscible b) partially miscible
¢} immiscible d) none of these
53) Fogis the example of which type of solution
a) gas-gas b)solid -gas ¢} liguid-gas d) solid-solid
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54) Solubility of CuSO, at 100°C is
a) 37.5g/100g  h)14.3g/ 100g
¢175.4g/100g d) 5g /100g
55) K;value for water is
a) 186 b)5.10 ¢)1.79 d}3.90
56) Molarity of pure water is
a1l b)18 ¢}55.5 d})6
57) Consulate temperature for water aniline system is
a) 65.8°C b) 167.0°C c}48.1°C d)85°C
58) Elevation of boiling point is directly proportional to

a) molarity bl molality
c) mole fraction of solute d) none of these
59) 10g of NaOH has been dissolved perdm? of solution.
The molarity of solution is:
fa) 0.5M (bl _025M (c) 1M (d) 2M
60) Which of the fellowing concentraticn unit is used for
very dilute solutions:

{a) Molarity (b} Normality {c) Molality [d] ppm

61) Which of the following concentraticn unit is not
affected by temperature:
{a) Molarity (b) Normality {c] Molality {d) ppm
62) Which pair of mixture is called non-ideal solution:
{a) C:HsOH+H;O {b) HCI+H:0
{c) NH:z+ HO {d} Allofthese
63) The number of moles of a solute per kg of solvent is
called:
{a) Molarity (b} Normality
{c)_Molality  {d) Mole fraction
64) About Rault’s law which expression is cor
{a) P=P%; (b} BP=P;
{c) EP/P"=X; [d] Allof these
65) The solution of NH,Cl and CuS0Q, in H,O
(a) Acidic_ (b} Basic (c)4Neutfal (d) All of these
66) Which of the following liquid-pai Will obey Raoult’s
law:
{a) C;HsOH+ H.0

OCH; + CHCl3

68) Which of th wing solution will show maximum
depression in freezing point:
{a) 0.1m NaCl {b) 0.1m BaCl
{c} 01mFeCl: (d) All have same value

69) During the distillation of Azeotropic mixture its:

{a) Boiling point remains constant
{b) Composition remains constant
{c) Boiling point increases {d) Boiling point decreases

70y Molarity of a solution is expressed in
{(a) moles/kg (b)gdm™® {c) dm?mol® (d} moles dm™
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71) The cryoscopic constant of water is 1.86°C. The
elevation of B.P. for a 0.1 m solution of a solute in
water is

{a) 18.6°C (b) 1.86"C (c) 0.186°C [d)none of these
72) Weight of a sclute dissolved per 100parts by weight of
solution is called as.
a) %w/w _ b)% wh c %v/w d) %v/v
73) Number of cm?® of solute dissolved in per 100g of the
solution is called as.
a) %w/v b) %v/v c) Y%ew/w d] %v/w
74) Which is an example of liquid in solid?

a) Sugar in water b} Mercury in silver §
c) Metal alloys pearls d} O2 in

75) Ratio of the number of moles
moles of all components pre

a) Parts per million b)
¢} Mole fraction d)

a) molarity  blmolality
c) mole fraction of solvent
d) mole fraction of solute.

79) Hydration energy of F- is
a) -460 b)-351 c)-384 d}-457

80) Everysample of matter with uniform properties and a
fixed composition is called.
a) Solution b) Binary solution c) Phase d) State

81) Component of solution which is in large quantity is
called as.

a) Solution b) Solvent c) Solute d) Concentrate

82) Number of moles of solute dissolved in cne liter of the
solution is called as.

a) Normality b} Equality c}Molarity d) Molality
83) CO;in water is an example of sclution.
a) Gas in gas b) Liguid in gas
c) Gas in solid d) Gas in liguid
84) Dust particles in smoke are example of.
a) Solid in solid b) Gas in solid
c) Solid in gas d) Solid in liguid
85) Unit which is used for very low concentrations of
solution is called as.

a) Mole fraction b} Pads per million
¢} Normality d) Molarity

86) The amount of NaOH required preparing 250 cm®of 0.1
M solution is

(aJ1g (b)2g (cj10g (d)6g
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87) An aqueous sclution of ethanol in water has vapour
pressure:

{a) Egqualtothatof water (b) egualto that of ethanol
{c} morethanthatof H:O (d) lessthan that of water
88) Which law is the best criterion for judgment of ideality
of a solution?
_(a) Henry’'s law (b} Raoult’s law
{c) Vant’ Hoff law (d) Ostwald’s law
89) if mole fraction for a reaction is 0.5 the mole percent
will be
a) 20% b) 25% ¢} 50% d) none of these
90) Which statement is wrong for colligative property of
solutions
b) Not depend upon nature of solute b) not depend
upon nature of solvent
c) Depend upon number of particles of solvent d)
depend upon number of particles of solute

91) Solution of ethanol in water shows
a) +Ve deviation b)—Ve deviation
¢} ideal behavior d) obyes Raoult’s law
92) The unit of mole fraction,while considering the partial
pressure of gases

a) Torr b} atm ¢} Pascal _d) none of these

93) Opal is an example of solution
a) Solid in liguid b) liguid in solid
c) solid insolid d) all are possible
94) Which one is not the example of liquid in solid
a) Butter _b) paint ¢} cheese d)Hginsilver
95) Ether dissclves water in an extent of
a) 12% b)6.5% c) 5% d)30% .
96) Which is not practically immiscible lquid

a) Water and benzene b) water and ¢S

¢} waterand tri-ethyla mige d¥all of these

a) 1000 gm _b}1342sm ¢} 1130 gm d) 1000kg

101)Sea water contains 5.65x10° g of dissolved oxygen in
1kg of water. Amount in ppm is

a)565 b)5.65 ¢} 565 d)5.65x10°

102)H,50, is 98% w/w solution and its density is 1.84
g/cm?. The molarity of solution is
a)17 _bll18 c) 159 d)11.73

103)What is the mass of urea in 100gm of water in 0.3
molal soluticn

a)16g b)18g c) 18z d] none of these
104)The vapor pressure of sclvent is 20 torr and the
vapor pressure of solution is 18 torr. What will be
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the mole fraction of solute?
ajl bl0.1l ¢} 09 d)zero
105)In 1molal soluticn of glucose the mole fraction of
solute is
all b)18 ¢l _0.0177 d} none of these
106) In the fractional distillation of ethanol and water, the
final distillate obtained is
a) ethanol b) water ¢} rectified spirit
d) mixture of all these
107)The solubility of which salt is not affected by change in
temperature?
a)Kal _bINacl ¢ cacl d)all of ti

108) Beckmann thermometer can read Up

a) gthvlene glvcol b)

¢} methylalcofd
110)The salt to make,

¢} hepta-hydrate d)anhydrate

”114) Aqueous solution of Na,50, turns litmus solution

a)blue b)red ¢} green _d}noeffect
115)A scluticn contains A,B, and C gases. The
concentration of individual gas will be expressed in
a) molality b) molarity
¢}l _mole fraction d} ppm

116) Which of the following salt dees not hydrolyze in water
b} CuSO,; b} Na:CO; _gl NaSQ. d) all of these

117)Aqueous solutions boil at 100.52°C. It should freeze at:
{a) 0°C [b]-1.86°C (c)-2°C (d)+1.86°C

118)Which caticn has least heat of hydration
ajLi+ b)Na+ _c} Kt d) Mg+2

119)10% aquecus sclution of glucose freezes at

a) less than 0°C b) greater than 0°C
¢} equalto0°C d)allof these
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